Product Rule;
D.(F(x)-g(x))=F'(x)-g(x)+F(x) g'(x)

K./V\_/Lf'v\/

quation that determines the slope of the following equation (aka the de
fhe slope at the glven value
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Quotient Rule;
() F()-F(x)-g(x)
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ation that determines the slope of the following equation (aka the derivative).
e slope at the given value.
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'(x) - f(x] : g(x) and £(3)=7, ¥'(3)=2, ¢(3)=6, and g'(3)=-10, find the
ne tangent line at x = 3.
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x:)=(:3x2 -4x)-g(:x)find h'(5) if g(5)=2 and g'(5)=-3.
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R _lt(:x‘)f
)=— ind #'(3) i
(3) if A(3)=7, A'(3)=2, k(3)=6, and K
’ ! 3)=-10.
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